# ON ESTIMATES FOR THE DUNKL TRANSFORM IN THE SPACE $\mathrm{L}_{2, \alpha}(\mathbb{R})$ 

MOHAMED EL HAMMA* AND RADOUAN DAHER


#### Abstract

In this paper, we study two estimates useful in applications are proved for the Dunkl transform in a Hilbert space $\mathrm{L}_{2, \alpha}(\mathbb{R})=\mathrm{L}_{2}\left(\mathbb{R},|x|^{2 \alpha+1} d x\right), \alpha>$ $-\frac{1}{2}$ as applied to some classes of functions characterized by a generalized modulus of continuity.


## 1. Introduction and preliminaries

Dunkl operators are differential-difference operators introduced in 1989, by Dunkl [5]. On the real line, these operators, which are denote by $\mathrm{D}_{\alpha}$, depend on a real parameter $\alpha>-\frac{1}{2}$ and they are associated with the reflection group $\mathbb{Z}_{2}$ on $\mathbb{R}$. For $\alpha>-\frac{1}{2}$, Dunkl kernel $e_{\alpha}$ is defined as the unique solution of a differentialdifference equation related to $\mathrm{D}_{\alpha}$ and satisfying $e_{\alpha}(0)=1$. This kernel is used to define Dunkl transform which was introduced by Dunkl in [6]. More complete results concerning this transform were later obtained by de Jeu [7]. Rösler in [8] shows that Dunkl kernels verify a product formula. This allows us to define Dunkl translation operators $\mathrm{T}_{h}, h \in \mathbb{R}$.

The Dunkl operator on $\mathbb{R}$ of index $\left(\alpha+\frac{1}{2}\right)$ is defined in [5] by

$$
\mathrm{D} f(x)=\mathrm{D}_{\alpha} f(x)=\frac{d f(x)}{d x}+\left(\alpha+\frac{1}{2}\right) \frac{f(x)-f(-x)}{x}, \quad \alpha>\frac{-1}{2} .
$$

These operators are very important in mathematics and physics.
In this paper, we prove two useful estimates in certain classes of functions characterized by a generalized continuity modulus and connected with the Dunkl transform in $L_{2, \alpha}(\mathbb{R})$, For this purpose, we use a translation operator in [4]. We point out that similar results have been established in the context of Fourier transform in real line (see [2]).

Assume that $\mathrm{L}_{2, \alpha}(\mathbb{R})$, is stand for the Hilbert space which consists of measurable functions $f(x)$ is defined on $\mathbb{R}$ with the finite norm

$$
\|f\|=\|f\|_{2, \alpha}=\left(\int_{-\infty}^{+\infty}|f(x)|^{2}|x|^{2 \alpha+1} d x\right)^{\frac{1}{2}}
$$

[^0]Given a function $f \in \mathrm{~L}_{2, \alpha}(\mathbb{R})$, the Dunkl transform [4] of order $\alpha$ is defined as

$$
\widehat{f}(\lambda)=\int_{-\infty}^{+\infty} f(x) e_{\alpha}(\lambda x)|x|^{2 \alpha+1} d x, \quad \lambda \in \mathbb{R}
$$

where $e_{\alpha}(x)$ Dunkl kernel is defined by

$$
\begin{equation*}
e_{\alpha}(x)=j_{\alpha}(x)+i(2 \alpha+2)^{-1} x j_{\alpha+1}(x) \tag{1}
\end{equation*}
$$

The function $y=e_{\alpha}(x)$ satisfies the equation $\mathrm{D} y=i y$ with the initial condition $y(0)=1, j_{\alpha}(x)$ is a normalized Bessel function of the first kind, i.e

$$
\begin{equation*}
j_{\alpha}(x)=\frac{2^{\alpha} \Gamma(\alpha+1) J_{\alpha}(x)}{x^{\alpha}} \tag{2}
\end{equation*}
$$

where $J_{\alpha}(x)$ is a Bessel function of the first kind ([3], chap7) the function $j_{\alpha}$ is infinitely differentiable and even, in addition, $j_{\alpha}(0)=1$.

From formula (1), we have

$$
\begin{equation*}
\left|1-j_{\alpha}(x)\right| \leq\left|1-e_{\alpha}(x)\right| \tag{3}
\end{equation*}
$$

The inverse Dunkl transform is defined by the formula

$$
f(x)=\frac{1}{\left(2^{\alpha+1} \Gamma(\alpha+1)\right)^{2}} \int_{-\infty}^{+\infty} \widehat{f}(\lambda) e_{\alpha}(-\lambda x)|\lambda|^{2 \alpha+1} d \lambda
$$

In $\mathrm{L}_{2, \alpha}(\mathbb{R})$, we define the operator of the generalized Dunkl translation (see [9])

$$
\begin{aligned}
& \mathrm{T}_{h} f(x)=C\left(\int_{0}^{\pi} f_{e}(G(x, h, \varphi)) h^{e}(\quad x \quad, h, \varphi) \sin ^{2 \alpha} \varphi d \varphi\right. \\
& \left.+\int_{0}^{\pi} f_{0}(G(x, h, \varphi)) h^{0}(x, h, \varphi) \sin ^{2 \alpha} \varphi d \varphi\right)
\end{aligned}
$$

where

$$
\begin{gathered}
C=\frac{\Gamma(\alpha+1)}{\Gamma\left(\frac{1}{2}\right) \Gamma\left(\alpha+\frac{1}{2}\right)}, \quad G(x, h, \varphi)=\sqrt{x^{2}+h^{2}-2|x h| \cos \varphi} \\
h^{e}(x, h, \varphi)=1-\operatorname{sgn}(x h) \cos \varphi
\end{gathered}
$$

and

$$
\begin{aligned}
& \begin{cases}h^{0}(x, h, \varphi)=\frac{(x+h) h^{e}(x, h, \varphi)}{G(x, h, \varphi)} & \text { for }(x, h) \neq(0,0) \\
h^{0}(x, h, \varphi)=0 & \text { for }(x, h)=(0,0)\end{cases} \\
& f_{e}(x)=\frac{1}{2}(f(x)+f(-x)), \quad f_{0}(x)=\frac{1}{2}(f(x)-f(-x)) .
\end{aligned}
$$

Lemma 1.1. [4] Let $f \in \mathrm{~L}_{2, \alpha}(\mathbb{R})$, then the following equality is true for any $h \in \mathbb{R}$

$$
\widehat{\left(\mathrm{T}_{h} f\right)}(\lambda)=e_{\alpha}(\lambda h) \widehat{f}(\lambda)
$$

The first-and higher order finite differences of $f(x)$ are defined as follows

$$
\Delta_{h} f(x)=\mathrm{T}_{h} f(x)-f(x)=\left(\mathrm{T}_{h}-\mathrm{I}\right) f(x)
$$

where I is the identity operator in $\mathrm{L}_{2, \alpha}(\mathbb{R})$.

$$
\Delta_{h}^{k} f(x)=\Delta_{h}\left(\Delta_{h}^{k-1} f(x)\right)=\left(\mathrm{T}_{h}-\mathrm{I}\right)^{k} f(x)=\sum_{i=0}^{k}(-1)^{k-i}\binom{k}{i} \mathrm{~T}_{h}^{i} f(x)
$$

where $\mathrm{T}_{h}^{0} f(x)=f(x), \mathrm{T}_{h}^{i} f(x)=\mathrm{T}_{h}\left(\mathrm{~T}_{h}^{i-1} f(x)\right)$ for $\mathrm{i}=1,2, \ldots, \mathrm{k}$ and $\mathrm{k}=1,2, \ldots \ldots$
The kth order generalized modulus of continuity of function $f \in \mathrm{~L}_{2, \alpha}(\mathbb{R})$ such that

$$
\Omega_{k}(f, \delta)=\sup _{0<h \leq \delta}\left\|\Delta_{h}^{k} f(x)\right\|
$$

Let $\mathrm{W}_{2, \alpha}^{m}$ be the Sobolev space constructed by the operator D such that

$$
\mathrm{W}_{2, \alpha}^{m}=\left\{f \in \mathrm{~L}_{2, \alpha}(\mathbb{R}), \quad \mathrm{D}^{j} f \in \mathrm{~L}_{2, \alpha}(\mathbb{R}), j=1,2, \ldots \ldots, m\right\}
$$

$\mathrm{W}_{2, \phi}^{m, k}(\mathrm{D})$ denote the class of functions $f \in \mathrm{~W}_{2, \alpha}^{m}$, satistying the estimate

$$
\Omega_{k}\left(\mathrm{D}^{m} f, \delta\right)=O\left(\phi\left(\delta^{m}\right)\right)
$$

where $\phi(t)$ is any nonnegative function given on $[0, \infty)$ and $\phi(0)=0$, for the Dunkl operator D , we have $\mathrm{D}^{0} f=f, \mathrm{D}^{m} f=\mathrm{D}\left(\mathrm{D}^{m-1} f\right), m=1,2, \ldots$

From lemma 1.1, we have

$$
\mathrm{T}_{h} f(x)=\frac{1}{\left(2^{\alpha+1} \Gamma(\alpha+1)\right)^{2}} \int_{-\infty}^{+\infty} e_{\alpha}(\lambda h) \widehat{f}(\lambda) e_{\alpha}(-\lambda x)|\lambda|^{2 \alpha+1} d \lambda
$$

Therefore, combining the relation

$$
\mathrm{T}_{h} f(x)-f(x)=\frac{1}{\left(2^{\alpha+1} \Gamma(\alpha+1)\right)^{2}} \int_{-\infty}^{+\infty}\left(e_{\alpha}(\lambda h)-1\right) \widehat{f}(\lambda) e_{\alpha}(-\lambda x)|\lambda|^{2 \alpha+1} d \lambda
$$

Parseval's identity gives (see [4])

$$
\left\|\mathrm{T}_{h} f(x)-f(x)\right\|^{2}=A \int_{-\infty}^{+\infty}\left|e_{\alpha}(\lambda h)-1\right|^{2}|\widehat{f}(\lambda)|^{2}|\lambda|^{2 \alpha+1} d \lambda
$$

where

$$
A=\left(2^{\alpha+1} \Gamma(\alpha+1)\right)^{-2}
$$

Hence, for any function $f \in \mathrm{~W}_{2, \phi}^{m, k}(\mathrm{D})$, we obtain

$$
\begin{equation*}
\left\|\Delta_{h}^{k} \mathrm{D}^{m} f(x)\right\|^{2}=A \int_{-\infty}^{+\infty}\left|e_{\alpha}(\lambda h)-1\right|^{2 k}|\lambda|^{2 m}|\widehat{f}(\lambda)|^{2}|\lambda|^{2 \alpha+1} d \lambda \tag{4}
\end{equation*}
$$

## 2. Estimates for the Dunkl transform

Taking into account what was said in section 1, for some classes of functions characterized by the generalized modulus of continuity, we can prove two estimates for the integral

$$
\int_{|\lambda| \geq R}|\widehat{f}(\lambda)|^{2}|\lambda|^{2 \alpha+1} d \lambda
$$

which are useful in applications.

Lemma 2.1. For $x \in \mathbb{R}$ the following inequalities are fulfilled:
(1) $\left|e_{\alpha}(x)\right| \leq 1$,
(2) $\left|1-e_{\alpha}(x)\right| \leq 2|x|$.

Proof. (see[4])

Lemma 2.2. The following inequalities are fulfilled:
(1) $1-j_{p}(x)=O(1), x \geq 1$,
(2) $1-j_{p}(x)=O\left(x^{2}\right), 0 \leq x \leq 1$,
(3) $\sqrt{h x} J_{p}(h x)=O(1), h x \geq 0$.

Proof. (see [1])

Theorem 2.3. For $f(x) \in \mathrm{L}_{2, \alpha}(\mathbb{R})$

$$
\sup _{\mathrm{W}_{2, \phi}^{m, k}(\mathrm{D})} \sqrt{\int_{|\lambda| \geq R}|\widehat{f}(\lambda)|^{2}|\lambda|^{2 \alpha+1} d \lambda}=O\left(R^{-m} \phi\left(\frac{c}{R}\right)^{k}\right),
$$

where $m=0,1, \ldots ; k=1,2 \ldots ; c>0$ is a fixed constant, and $\phi(t)$ is any nonnegative function defined on $[0, \infty)$.

Proof. Let $f \in \mathrm{~W}_{2, \phi}^{m, k}(\mathrm{D})$. Taking into account the Hölder inequality yields

$$
\begin{aligned}
& \int_{|\lambda| \geq R}|\widehat{f}(\lambda)|^{2}|\lambda|^{2 \alpha+1} d \lambda-\int_{|\lambda| \geq R} j_{\alpha}(\lambda h)|\widehat{f}(\lambda)|^{2}|\lambda|^{2 \alpha+1} d \lambda \\
= & \int_{|\lambda| \geq R}\left(1-j_{\alpha}(\lambda h)\right)|\widehat{f}(\lambda)|^{2}|\lambda|^{2 \alpha+1} d \lambda \\
= & \int_{|\lambda| \geq R}\left(1-j_{\alpha}(\lambda h)\right)\left(|\widehat{f}(\lambda)||\lambda|^{\alpha+\frac{1}{2}}\right)^{2} d \lambda \\
= & \int_{|\lambda| \geq R}\left(1-j_{\alpha}(\lambda h)\right)\left(|\widehat{f}(\lambda)||\lambda|^{\alpha+\frac{1}{2}}\right)^{2-\frac{1}{k}}\left(|\widehat{f}(\lambda)||\lambda|^{\alpha+\frac{1}{2}}\right)^{\frac{1}{k}} d \lambda \\
\leq & \left(\int_{|\lambda| \geq R}|\widehat{f}(\lambda)|^{2}|\lambda|^{2 \alpha+1} d \lambda\right)^{\frac{2 k-1}{2 k}}\left(\int_{|\lambda| \geq R}\left|1-j_{\alpha}(\lambda h)\right|^{2 k}|\widehat{f}(\lambda)|^{2}|\lambda|^{2 \alpha+1} d \lambda\right)^{\frac{1}{2 k}} \\
\leq & \left(\int_{|\lambda| \geq R}|\widehat{f}(\lambda)|^{2}|\lambda|^{2 \alpha+1} d \lambda\right)^{\frac{2 k-1}{2 k}}\left(\int_{|\lambda| \geq R}|\lambda|^{-2 m}\left|1-e_{\alpha}(\lambda h)\right|^{2 k}|\lambda|^{2 m}|\widehat{f}(\lambda)|^{2}|\lambda|^{2 \alpha+1} d \lambda\right)^{\frac{1}{2 k}} \\
\leq & R^{\frac{-m}{k}}\left(\int_{|\lambda| \geq R}|\widehat{f}(\lambda)|^{2}|\lambda|^{2 \alpha+1} d \lambda\right)^{\frac{2 k-1}{2 k}}\left(\int_{|\lambda| \geq R}\left|1-e_{\alpha}(\lambda h)\right|^{2 k}|\lambda|^{2 m}|\widehat{f}(\lambda)|^{2}|\lambda|^{2 \alpha+1} d \lambda\right)^{\frac{1}{2 k}}
\end{aligned}
$$

In view of (4), we have

$$
\int_{|\lambda| \geq R}|\lambda|^{2 m}\left|1-e_{\alpha}(\lambda h)\right|^{2 k}|\widehat{f}(\lambda)|^{2}|\lambda|^{2 \alpha+1} d \lambda \leq \frac{1}{A}\left\|\Delta_{h}^{k} \mathrm{D}^{m} f(x)\right\|^{2}
$$

Therefore

$$
\begin{aligned}
\int_{|\lambda| \geq R}|\widehat{f}(\lambda)|^{2}|\lambda|^{2 \alpha+1} d \lambda & \leq \int_{|\lambda| \geq R} j_{\alpha}(\lambda h)|\widehat{f}(\lambda)|^{2}|\lambda|^{2 \alpha+1} d \lambda \\
& +\frac{1}{A} R^{\frac{-m}{k}}\left(\int_{|\lambda| \geq R}|\widehat{f}(\lambda)|^{2}|\lambda|^{2 \alpha+1} d \lambda\right)^{\frac{2 k-1}{2 k}} \cdot\left\|\Delta_{h}^{k} D^{m} f(x)\right\|^{\frac{1}{k}}
\end{aligned}
$$

In view of formulas (2) and (2) in lemma 2.2,

$$
j_{\alpha}(\lambda h)=O\left((|\lambda h|)^{-\alpha-\frac{1}{2}}\right) .
$$

consequently

$$
\begin{aligned}
\int_{|\lambda| \geq R}|\widehat{f}(\lambda)|^{2}|\lambda|^{2 \alpha+1} d \lambda= & O\left(\int_{|\lambda| \geq R}|h \lambda|^{-\alpha-\frac{1}{2}}|\widehat{f}(\lambda)|^{2}|\lambda|^{2 \alpha+1} d \lambda\right) \\
& +R^{\frac{-m}{k}}\left(\int_{|\lambda| \geq R}|\widehat{f}(\lambda)|^{2}|\lambda|^{2 \alpha+1} d \lambda\right)^{\frac{2 k-1}{2 k}}\left\|\Delta_{h}^{k} \mathrm{D}^{m} f(x)\right\|^{\frac{1}{k}} \\
= & O\left((R h)^{-\alpha-\frac{1}{2}}\right) \int_{|\lambda| \geq R}|\widehat{f}(\lambda)|^{2}|\lambda|^{2 \alpha+1} d \lambda \\
& +R^{\frac{-m}{k}}\left(\int_{|\lambda| \geq R}|\widehat{f}(\lambda)|^{2}|\lambda|^{2 \alpha+1} d \lambda\right)^{\frac{2 k-1}{2 k}}\left\|\Delta_{h}^{k} \mathrm{D}^{m} f(x)\right\|^{\frac{1}{k}}
\end{aligned}
$$

or

$$
\begin{gathered}
\left(1-O(R h)^{-\alpha-\frac{1}{2}}\right) \int_{|\lambda| \geq R}|\widehat{f}(\lambda)|^{2}|\lambda|^{2 \alpha+1} d \lambda \\
=O\left(R^{\frac{-m}{k}}\right)\left(\int_{|\lambda| \geq R}|\widehat{f}(\lambda)|^{2}|\lambda|^{2 \alpha+1} d \lambda\right)^{\frac{2 k-1}{2 k}}\left\|\Delta_{h}^{k} D^{m} f(x)\right\|^{\frac{1}{k}}
\end{gathered}
$$

Setting $h=\frac{c}{R}$ in the last inequality and choosing $c>0$ such that

$$
1-O\left(c^{-\alpha-\frac{1}{2}}\right) \geq \frac{1}{2}
$$

We obtain

$$
\int_{|\lambda| \geq R}|\widehat{f}(\lambda)|^{2}|\lambda|^{2 \alpha+1} d \lambda=O\left(R^{\frac{-m}{k}}\right)\left(\int_{|\lambda| \geq R}|\widehat{f}(\lambda)|^{2}|\lambda|^{2 \alpha+1} d \lambda\right)^{\frac{2 k-1}{2 k}} \phi^{\frac{1}{k}}\left(\left(\frac{c}{R}\right)^{k}\right)
$$

we have

$$
\int_{|\lambda| \geq R}|\widehat{f}(\lambda)|^{2}|\lambda|^{2 \alpha+1} d \lambda=O\left(R^{-2 m} \phi^{2}\left(\left(\frac{c}{R}\right)^{k}\right)\right) .
$$

the theorem is proved.
Theorem 2.4. Let $\phi(t)=t^{\nu}$, then

$$
\left(\int_{|\lambda| \geq R}|\widehat{f}(\lambda)|^{2}|\lambda|^{2 \alpha+1} d \lambda\right)^{\frac{1}{2}}=O\left(R^{-m-k \nu}\right) \Longleftrightarrow f \in \mathrm{~W}_{2, \phi}^{m, k}(\mathrm{D})
$$

where $m=0,1, \ldots ; k=1,2, \ldots ; 0<\nu<2$.
Proof. Sufficiency by Theorem 2.3 let $f \in \mathrm{~W}_{2, t^{\nu}}^{m, k}(\mathrm{D})$ we have

$$
\left(\int_{|\lambda| \geq R}|\widehat{f}(\lambda)|^{2}|\lambda|^{2 \alpha+1} d \lambda\right)^{\frac{1}{2}}=O\left(R^{-m-k \nu}\right)
$$

Necessity: Let

$$
\sqrt{\int_{|\lambda| \geq R}|\widehat{f}(\lambda)|^{2}|\lambda|^{2 \alpha+1} d \lambda}=O\left(R^{-m-k \nu}\right)
$$

that is

$$
\int_{|\lambda| \geq R}|\widehat{f}(\xi)|^{2}|\lambda|^{2 \alpha+1} d \lambda=O\left(R^{-2 m-2 k \nu}\right)
$$

It is easy to prove, that there exists a function $f \in \mathrm{~L}_{2, \alpha}(\mathbb{R})$ such that $\mathrm{D}^{m} f \in$ $\mathrm{L}_{2, \alpha}(\mathbb{R})$ and

$$
\mathrm{D}^{m} f(x)=\frac{(-i)^{m}}{\left(2^{\alpha+1} \Gamma(\alpha+1)\right)^{2}} \int_{-\infty}^{+\infty} \lambda^{m} \widehat{f}(\lambda) e_{\alpha}(-\lambda x)|\lambda|^{2 \alpha+1} d \lambda
$$

Then, we have the equality

$$
\left\|\Delta_{h}^{k} \mathrm{D}^{m} f(x)\right\|^{2}=A \int_{-\infty}^{+\infty}\left|1-e_{\alpha}(\lambda h)\right|^{2 k}|\lambda|^{2 m}|\widehat{f}(\lambda)|^{2}|\lambda|^{2 \alpha+1} d \lambda
$$

This integral is divided into two:

$$
\int_{-\infty}^{+\infty}=\int_{|\lambda|<R}+\int_{|\lambda| \geq R}=\mathrm{I}_{1}+\mathrm{I}_{2}
$$

where $R=\left[h^{-1}\right]$. and estimate each of them.
From (1) in lemma 2.1, we have

$$
\begin{aligned}
& \mathrm{I}_{2}=\int_{|\lambda| \geq R}\left|1-e_{\alpha}(\lambda h)\right|^{2 k}|\widehat{f}(\lambda)|^{2}|\lambda|^{2 \alpha+2 m+1} d \lambda \\
= & O\left(\int_{|\lambda| \geq R}|\widehat{f}(\lambda)|^{2}|\lambda|^{2 \alpha+2 m+1} d \lambda\right) \\
= & O\left(\sum_{n=R}^{\infty} \int_{n}^{n+1}|\widehat{f}(\lambda)|^{2}|\lambda|^{2 \alpha+2 m+1} d \lambda\right) \\
= & O\left(\sum_{n=R}^{\infty} n^{2 m} \int_{n}^{n+1}|\widehat{f}(\lambda)|^{2}|\lambda|^{2 \alpha+1} d \lambda\right) \\
= & O\left(\sum_{n=R}^{\infty} n^{2 m}\left[\int_{n}^{\infty}|\widehat{f}(\lambda)|^{2}|\lambda|^{2 \alpha+1} d \lambda-\int_{n+1}^{\infty}|\widehat{f}(\lambda)|^{2}|\lambda|^{2 \alpha+1} d \lambda\right]\right) \\
= & O\left(\sum_{n=R}^{\infty} n^{2 m} \int_{n}^{\infty}|\widehat{f}(\lambda)|^{2}|\lambda|^{2 \alpha+1} d \lambda-\sum_{n=R}^{\infty} n^{2 m} \int_{n+1}^{\infty}|\widehat{f}(\lambda)|^{2}|\lambda|^{2 \alpha+1} d \lambda\right) \\
= & O\left(R^{2 m} \int_{R}^{\infty}|\widehat{f}(\lambda)|^{2}|\lambda|^{2 \alpha+1} d \lambda\right. \\
+ & \left.\sum_{n=R+1}^{\infty} n^{2 m} \int_{n}^{\infty}|\widehat{f}(\lambda)|^{2}|\lambda|^{2 \alpha+1} d \lambda-\sum_{n=R}^{\infty} n^{2 m} \int_{n+1}^{\infty}|\widehat{f}(\lambda)|^{2}|\lambda|^{2 \alpha+1} d \lambda\right) \\
= & O\left(R^{2 m} \int_{R}^{\infty}|\widehat{f}(\lambda)|^{2}|\lambda|^{2 \alpha+1} d \lambda+\sum_{n=R}^{\infty}\left((n+1)^{2 m}-n^{2 m}\right) \int_{n}^{\infty}|\widehat{f}(\lambda)|^{2}|\lambda|^{2 \alpha+1} d \lambda\right) \\
= & O\left(R^{2 m} \int_{R}^{\infty}|\widehat{f}(\lambda)|^{2}|\lambda|^{2 \alpha+1} d \lambda+\sum_{n=R}^{\infty} n^{2 m-1} \int_{n}^{\infty}|\widehat{f}(\lambda)|^{2}|\lambda|^{2 \alpha+1} d \lambda\right) \\
= & O\left(R^{2 m} R^{-2 m-2 k \nu}\right)+O\left(\sum_{n=R}^{\infty} n^{2 m-1} n^{-2 m-2 k \nu}\right) \\
= & O\left(R^{-2 k \nu}\right)+O\left(R^{-2 k \nu}\right)=O\left(h^{2 k \nu}\right)
\end{aligned}
$$

i.e

$$
\mathrm{I}_{2}=O\left(h^{2 k \nu}\right)
$$

We estimate $\mathrm{I}_{1}$, since (2) in lemma 2.1, we have

$$
\begin{aligned}
\mathrm{I}_{1} & =\int_{|\lambda|<R}|\widehat{f}(\lambda)|^{2}|\lambda|^{2 \alpha+2 m+1}\left|1-e_{\alpha}(\lambda h)\right|^{2 k} d \lambda \\
& =O\left(h^{2 k}\right) \int_{|\lambda|<R}|\widehat{f}(\lambda)|^{2}|\lambda|^{2 \alpha+2 m+2 k+1} d \lambda \\
& =O\left(h^{2 k}\right) \sum_{n=0}^{R} \int_{n \leq|\lambda|<n+1}|\widehat{f}(\lambda)|^{2}|\lambda|^{2 \alpha+2 m+2 k+1} d \lambda \\
& =O\left(h^{2 k}\right) \sum_{n=0}^{R}(n+1)^{2 m+2 k} \int_{n \leq|\lambda|<n+1}|\widehat{f}(\lambda)|^{2}|\lambda|^{2 \alpha+1} d \lambda \\
& =O\left(h^{2 k}\right) \sum_{n=0}^{R}(n+1)^{2 m+2 k}\left[\int_{|\lambda| \geq n}|\widehat{f}(\lambda)|^{2}|\lambda|^{2 \alpha+1} d \lambda-\right. \\
& \left.=\left.O\left(h^{2 k}\right)\left[1+\sum_{n=0}^{R}\left((n+1)^{2 m+2 k}-n^{2 m+2 k}\right) \int_{|\lambda| \geq n+1}|\widehat{f}(\lambda)|^{2}|\lambda|^{2 \alpha+1} d \lambda\right]\right|^{2 \alpha+1} d \lambda\right] \\
& =O\left(h^{2 k}\right)\left[1+\sum_{n=0}^{R} n^{2 m+2 k-1} \int_{|\lambda| \geq n}|\widehat{f}(\lambda)|^{2}|\lambda|^{2 \alpha+1} d \lambda\right] \\
& =O\left(h^{2 k}\right)\left[1+\sum_{n=0}^{R} n^{2 m+2 k-1} n^{-2 m-2 k \nu}\right] \\
& =O\left(h^{2 k}\right)\left[1+\sum_{n=0}^{R} n^{2 k-2 k \nu-1}\right] \\
& =O\left(h^{2 k}\right) O\left(R^{2 k-2 k \nu}\right)=O\left(h^{2 k \nu}\right)
\end{aligned}
$$

that is

$$
\mathrm{I}_{1}=O\left(h^{2 k \nu}\right)
$$

Combining the estimates for $I_{1}$ and $I_{2}$ gives

$$
\left\|\Delta_{h}^{k} \mathrm{D}^{m} f(x)\right\|=O\left(h^{k \nu}\right)
$$

The necessity is proved

## References

[1] V. A. Abilov and F. V. Abilova, Approximation of Functions by Fourier-Bessel Sums, Izv. Vyssh. Uchebn. Zaved. Mat., 8(2001), 3-9 .
[2] V. A. Abilov, F. V. Abilova, and M.K. Kerimov Some Remarks Concerning the Fourier Transform in the Space $L_{2}(\mathbb{R})$, Zh. Vychisl. Mat. Mat. Fiz., 48 (2008), 2113-2120.
[3] H. Bateman and A.Erdélyi, Higher Transcendental Functions, Vol II(Mc Graw-Hill, New York, 1953; Nauka, Moscow, 1971).
[4] E.S. Belkina and S.S. Platonov, Equivalence of K-Functionnals and Modulus of Smoothness Constructed by Generalized Dunkl Translations, Izv. Vyssh. Uchebn. Zaved. Mat., 8 (2008), 3-15.
[5] C.F. Dunkl, Differential-difference operators associated to reflexion groups, Trans. Amer. Math. Soc., 311(1989), 167-183.
[6] C.F. Dunkl, Hankel transforms associated to finite reflection groups inProceedings of Special Session on Hypergeometric Functions on Domains of Positivity, Jack Polynomials and Applications, Proceedings, Tampa 1991, Contemp. Math. 138(1992) 123-138.
[7] M.F.E. Jeu, The Dunkl transform, Inv. Math. 113 (1993) 147-162.
[8] M.Rösler, Bessel-type signed hypergroup on $\mathbb{R}$ in: H.Heyer, A.Mukherjea (Eds.)Probability Measure on Groups and Related Structures, (Proc. Conf. Oberwolfach, 1994), World Scientific, Singapore, 1995, 292-304.
[9] N.B. Salem and S. Kallel, Mean-Periodic Function Associated with the Dunkl operators, Adv. Integral Transforms Spec. Funct. 15(2)(2004), 155-179.

Department of Mathematics, Faculty of Sciences Aïn Chock, University of Hassan II, Casablanca, Morocco

* Corresponding author


[^0]:    2010 Mathematics Subject Classification. 44A15; 33C52.
    Key words and phrases. Dunkl operator; generalized modulus of continuity; Dunkl transform.

